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Instructions 

Respond to each statement twice: Once before the reading and again after reading it. Write A if you agree with the statement and B if you disagree with the statement
	Response 
before reading
	TOPIC: Development of a universal flu vaccine
	Response 
after reading

	


	The existing flu vaccines are not effective most of the time
	

	


	The main obstacle to developing a more effective vaccine is constant virus mutation
	

	


	It is impossible to develop a single vaccine for all flu viruses
	

	


	Flu viruses are not deadly at all
	

	


	There are 100X existing flu strains
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